Strike Warfare

  

                                          Answer Key
1. What is the mission of Strike Warfare?

Strike Warfare is the use of tactical aircraft and/or cruise missile strkes against land targets in an offensive power projection role.
2. What is TACAIR and the primary platform used in its execution? 

TACAIR stands for Tactical Aircraft and currently the F/A-18 Hornet is the primary platform.

3. Explain the guidance system of an LGB.

Laser Guided Bombs employ a laser seeker that allows the bomb to adjust its flight path into a target.  The guidance system requires that the target be “painted” with a laser, which can be done by the launching aircraft, another aircraft, unmanned aerial vehicles or ground units.  The laser seeker in the nose of the bomb guides on the reflected laser light and follows this path.

4. List and define the four mission capabilities of Strike Warfare.

a. Coordinated Strike – reduces an enemy’s war making capacity or logistics capability by destroying specific targets.  The targets are normally inland and well defined.  Examples of strike targets include refineries, power plants, factories and command and control centers.

b. Interdiction – destruction of specifically designated targets in order to deny enemy access to an area.  Targets include bridges, railroads and other major roadways.  Its secondary mission is to destroy targets of opportunity.



c. Armed Reconnaissance – attack aircraft are given orders to engage enemy targets of opportunity that they may encounter.  Cruise missiles are not used in this mission.  Usually a plane tasked with armed reconnaissance will have a secondary mission of attacking specific fixed targets in not target of opportunity presents itself.
d. Close Air Support – to harass, neutralize, or destroy enemy ground forces that may threaten friendly ground forces.  Good communication allows forward air controllers to request Close Air Support.
5. Complete the following table.

	Platform
	Advantages
	Disadvantages

	Tactical Aircraft
	a. Greater payload

b. Target selection ability

c. Battle damage assessment 

d. Close air support

e. Armed reconnaissance

f. Reusable 
	a. Pilot vulnerability

b. Shorter range

c. Limited deep strike capability

	Cruise Missiles
	a. Deep strike capability

b. No loss of pilots

c. High accuracy 

d. Multiple launching platforms
	a. No battle damage assessment

b. No target selection capability

c. Small payload

d. High cost per shot ($1.5 million)


6. What are the five types of bombs?  List two examples for each.

a. Iron bomb – Mk-82 500 lb, Mk-83 1000 lb, Mk-84 2000 lb

b. Retarded iron bomb – Snake eye, AIR retarded bomb

c. Laser guided bombs – GBU-28, Paveway series

d. Cluster bombs – Mk-20 Rockeye, CBU-59

e. Fuel air explosive bombs – BLU-95, BLU-96

7. In 19____(a)____ William F. Halsey, Jr. graduated from the Naval Academy.  In 19____(b)____ he was aboard the USS ____(c)____ when the formal Japanese surrender was signed on ____(d)____September.  Halsey became the fourth and last officer to hold the rank of Fleet Admiral on 11____(e)____.

a. 1904

b. 1945

c. Missouri

d. 2

e. 11 December 1945
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9. In the near future, we will see most deployed helicopters capable of being armed with what two types of missiles?

Hellfire and Penguin missiles.

10. What does NSFS stand for, and what are the two main guns used in its role in strike warfare?

NSFS stands for Naval Surface Fire Support  

Mk45 5-inch, 54 caliber, dual-purpose gun

Mk74 OTO Melara Gun, 76mm, 63 caliber

11. What is an example of an Anti-Radiation Missile and its mission?

The AGM-88 HARM is an anti-radiation missile that has the mission of destroying enmy treat radars with ARMs and other TACAIR platforms. 

12. Explain the guidance system sequence for the flight of a Tomahawk land-attack missile. 

Before launch the mission specific information is loaded into the TLAM.  During the boost phase the TLAM performs a zero-g pushover to assume a low-level sea skimming flight altitude.  During this initial cruise phase, it uses Inertial Navigation System, which is the use of a series of sensors that compute its position relative to the launching platform.  When the TLAM reaches land, the Terrain Contour Matching System is activated, scanning the terrain below the missile and obtaining terrain altitude data to compare such information to that if the missile’s inertial position.  As the missile approaches the target, Digital Scene Matching Area Correlation is activated to utilize high resolution digital scenic photographs to compare images taken by the missile’s onboard special strobe camera to those images stored in the onboard computer’s memory.  Global Positioning System is used throughout the entire flight of the missile.

13. True or False: The EA-6B Prowler the sole platform employed by both the US Navy and US Air Force for use in EW and ECM.

True.  The Prowler is the sole platform for both the US Navy and US Air Force that is designed for use in Electronic Warfare and Electronic Countermeasures.

14. Cluster bombs carry a wide range of different bomblets, each suited to attack what types of targets?

Armor, personnel, structures, radar sites, and runways

15. What guided air to ground missile is primarily used against well-defined land targets, allowing forces to launch the weapon from outside the range of enemy air defense?

Standoff Land Attack Missile
